§s5. 000000O0O0O0OOOOO

0000000000000 0000000000000000000
0000000000000D000000D00-00000000000-000
000000000000000000000000000000000
0000000000 000-0-(RayleighD0 000000000000 0O0O
000000000000000000000000000000000
0 0 O 0-0-0000(RayleighORitz) D 0D 000 0O
§51000000000000000085200000000000
000000§5300000000000000000000000

§51 OO0ODOOODOODOOOO
ooboboobooboobooboobboobbobooboNDOn
OoOtoodoboddag, (i=42,---,N)0D0O00OD0OOODOOOOT O

R R R _
T(q)—EZJZauqiq,-, 3; =, (5.1.1)
gobbodobdgUqbtiboobdubidb0iiibbibiiibiivu
[

1
U(Q)ZE b;q,q;, by =b; (5.1.2)

O000000O00Oogon Lagrangian O
L(q,4) =T(q)-U(a) (5.1.3)
O000o0oDooooodoOHamiltonO OO OQOOd

I[q] = I:b L(q,q)dt = stationary (5.1.4)

00o00o0ooooG1a4HinoionooonooonoddnUEuler O
goooog
dL

qi_L.

dt 4

0000G1)00GL0000L,, L0

=0, (i=12--N) (5.1.5)
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N

L, = ;aijqj’
N
L, = _Jz:lbijqj

OooobobooogGasS ) oooooboboboogd

(i=12,,N) (5.1.6)

iaud,— +ibijqj =0, (i=12---,N) (5.1.7)
oood
00000 0oooO
[AG} +[B{a}=0 (5.1.8)
ooooooo
[Al=[a;],
[B] =[b;], (5.1.9)

{q}:[qlquY"'!qN]T
OO00O0ooo[ALBUOODODDODOODOODDODODOOOODN wh O

{a} = {Q}exp(v'- Lwt) (5.1.10)
00000000 {Q}0

{Q}=1Q,,Q,,---.Q, T (5.1.11)
0000(5.1.1000(5.1.8)0000000

[BKQ} - w? [A{Q}=0 (5.1.12)

0000000000000 00000000000w00000000
B-w A=0 (5.1.13)

gboggoogbooggn NDDDDDwf,(izl,Z,---,N)DDDDDD
oo

0w Sw, <---<w, (5.1.14)
000000000000 @OO000000-00(0000000){Q,}0

[B-w’AK{Q}=0 (5.1.15)
000000

000000000000 0000000000(.1.12)00000000
0000i000000000000000 w2 {Q}000j000000000
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000000 w,° {Q,30 00 0
[B{Q}=w’ [AHQ} (5.1.16a)
[BHQ,} = w,’ [AHQ,} (5.1.16b)

0000(5.1.16a)0 0(5.1.160)0 000000000000 {QY 0{Q,¥

00000000 [AL[BlO0DOC0OOODO0

0=(w’ -, QY [AKQ,}, fori# | (5.1.17)
000000w® 2w,°0000

0={QY[AHQ,}, fori#j (5.1.18)
000000000w’ =0’000000Schmidt0000000000

00000{Q)}0

QY [AHQ} , A

Q}={Q}- = ER{(o] 5.1.19
Q= QY [AHQ;} } ( )
gooogood
[BHQ} = w,’ [AHQ} (5.1.20a)
{QY [AHQ;}=0 (5.1.20b)

000000000000{Q}0{Q}000000000(5.1.18)000

OO00O0Ooooiob(oob-00)ooobobooooooOoaoad
QY W2Q¥ AR Y0000 {Q3I0 000

%{Q}T[A}{éi}ﬂ (5.1.21)

00000000 (5.1.18)00(5.1.21)0 0 O
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1 = A
E{Qi}T [AHQ,;} =9, (5.1.22)
00000000 8,0 Khronecker 0 00000 0 0 0

fori=j,
5 =2 =) (5.1.23)
! B) for i #

gooooogdn
%{éi}T [B{Q;}= %{éi}T w,"[AKO,} = w,%S, (5.1.24)

0000

(5.1.22)0 0 000 0 00000{Q;}, (i=12,-,N)OONODOOOODOO DO OO
000000000 NOODODOOONODO0C0DO00D000000000 NGO
000000000 0000000000000 00000000000000000 00
00000 000000{Q}0

Q=Y &0 (5.1.25)
0000000000000 0onO(Gk.1.22)000
§ = %{Qi}T [AQ} (5.1.26)

ooog@éGr2s)oooobooobobbibtb bbb oooUo oo
i ogoooobo

Q={Q} (5.1.27)
D00000D000T(Q),U(Q)O

T(Q = %{Q}T [AHQ} (5.1.282)

uEQ =§{Q}T[B]{Q} (5.1.28b)

000000 (G5.1.1)00(5.1.2) 0000 T(Q), U(Q)D O 0000000 O O 000
00000000000 000000000000

0000(5.1.2500(5.1.28)0 0000000 (5.1.22)0 0 (5.1.24)0 O
0

T(Q = %{Q}T [AHQ}
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_1 - 31T - N
-Egga{q} E[A]E;fj{q}%

:%Z > EE QY AHQ =3 & (5.1.29a)
U = %{Q}T [BHQ}
- % £6,0Y BIO Y=Y @€’ (5.1.29b)
Jdoddoodon
TQ=3¢& =1 (5.1.30)
Jdodgdon
VQ =)@ 2wy & =w’ (5.1.31)
00000000000 =1§=¢§=-=£=00000UQ) 0000
00001<k<NOOOO¢ =§,=-=£,,=000000
U(Q) = wa zwfiff =w,’ (5.1.32)
000000¢é, =1¢&,, =¢,=-=£§ =00000UQ) 0000 w?00
0o
dodddodoodd
w,” =minfU (Q)] = minffQ}" [BI{Q)] (5.1.33a)
under
TQ =%{Q}T[A]{Q}=l (5.1.33b)

T(Q,éi):é{Q}T[A]{éi}:o, (i=12,-k-1) (5.1.33¢)

0000000000000000 @°000000000000000000
0o0000{Q, 30000
(5.1.3300000000

V(@O . HQY [BKQ}D (5.1.34a)

FH " Ho A

2 _ .
@,” =min

152



under
T(Q,éi):é{Q}T[A]{éi}:o, (i=12,,k-1) (5.1.34b)

0000000 G133c)nooonooonooonooonns.1.34)
O000o0D0O0oOo-0-0 00 (Rayleigh's Principle)d O O 0O 0O O
G133 UoooooooooooooonGk.r33c)ooooood
DDDDDDDDDDDDDDDDDDDDDQ i=12,---,k-)00O00O0O0OO
gooooy, (i=12,---xk-)O0O0 0000000 OODOOODOORDO

(minimum-maximum principle)

w,* =maxu (Q(V))] (5.1.35a)
where
U(Q(V)) = min[u (Q) (5.1.35b)
under
T(Q) = {QY [ANQ}=1 (5.1.35¢)

T(ini):%{Q}T[A]{Vi}:O (1=12,---,k-1)  (5.1.35d)

Oo0DoooODboOvOooooooy,; (i=12,---,k-)00000OOODODDOOOO
obovobooooboooboou@Qvy)boboovobouobooobooo

D000w 00000
0000000000000000000QOYV, (i=12,--,k-)000

000000000
=% £,0, (5.1.36a)

N ~
Vi=YaQ, (=12~ (5.1.36b)

00000(5.1.350 0

w,” =max[U (Q(a)) (5.1.37a)

where
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U Q) =minfu(Q)] (5.1.37b)

under
11Q%=%5f=1 (5.1.37c)
T«1V0=§}m§=o, (i=12,,k 1) (5.1.37d)

0000000000000000eD0 a; (i=12+,k-1j=12,--,N)0OO
0o
000((G.13700d)00000000000000000000 a,;00

D000000U@Qe)000O0O0O0O0DO

Evu=Exn=-=E\=0 (5.1.38)
00000000 ((5.1.37c0)00((.1.37d)0 00 &5 (j=12,---,N) 0000
D000o000ooouQoOoooou)ooooog

U(Q(a)) =U(Q) (5.1.39)
oooooooo

N _ 2¢2 2 2 _ .2

V@)= W <0 Y & =0, (5.1.40)
00000

UQw)<w,’ (5.1.41)
00000

000

a, =8, (i=12-k-1 j=12,-N) (5.1.42)
0000 (5.1.35d)0 0 0

E=&=.=28"1=0 (5.1.43)

goooobobod
N N
U= wé 20’y & =0’ (5.1.44)
goodoooobood

a&zzgkaQ“ﬂ (5.1.45)

0000000 w 0UQe)I0000000
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(5.1.12) 000000000000
[B{Q} -’ [A{Q}=0 (5.1.12)
00o0ooooooO

T(Q) =, {QY [ANQ}=1 (5.1.46)
oo oooooooogoooobooboobgobogn
U(Q) = Q¥ [BHQ} = min (5.1.472)

under
T(Q) = {Q¥ [AHQ} =1 (5.1.47b)

O000000w 0 Lagrange 0000000000000 OOOOOO
OoG.r12)0oo0oogooon

obooobboboboooboobooboobuoobooboboooo
O2f, (i=12,---,N)0Q000O0ODOO0DOD00DOOOW O

N

W = _Z f.q, (5.1.48)
O00000000 LagrangianL

L=T-U-W

188, . 18l L
:E 3 a,0,q; _E; > b; 04 +2; f.q, (5.1.49)

boodooooouooouoood

dL, )

d—t'—Lqi:O, (i=12,---,N) (5.1.5)
gooooodoo

JNZla”qj + ibijqj =f, (@(=12,---,N) (5.1.50)
HRERE

[AKA} +[BI{a} ={f} (5.1.51)
gooooon

{f}=[f, f,.-- £, T (5.1.52)
oo
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00000{q(t)}, {f()}0 00000000000

{00} = &OQ} (5.1.532)

{f(O}= ) n(OIAKQ} (5.1.53b)
ooooood

n(®) =QY{f (0} (5.1.54)

0000(.1.52)00((.1.5000000000
> &IAHQ I+ Y £[BHQ 3= Y n;[AKQ;} (5.1.55)

00000000000 Y2{QY 00000 ((5.1.22)00(5.1.24)000 0
0o

& +w’E =n,(t) (5.1.56)
oooQg
000000(Duhame)D D00 O0OO0OO0O(G.A56)I0OO0O00O000O0O

£(t) = & (0) cos ot +%£‘i (0) sin cot

+£J’tni(r)sinw(t—r)dr (5.1.57)
w 0

oo
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